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Jane attached the photograph to the form. In this sentence, “attach” means
……………………….. .

join show visit miss

1-

1. 2. 3. 4.

A letter or group of letters added at the end of a word to make another word, such as '–ly' in
quickly, is called a …………………. .

prefix suffix root base word 

2-

1. 2. 3. 4.

Tom’s eyes reflected the nature of his thoughts. In this sentence “reflect” means
………………… .

learn think show play

3-

1. 2. 3. 4.

‘Play’ is the ……………. of ‘plays’, ‘played’, ‘playing’, and ‘player’.

prefix suffix letter root

4-

1. 2. 3. 4.

In the sentence ‘An example of a word that contains all three elements is impolitely’, the word
'that' refers to ………………. .

example elements impolitely a word

5-

1. 2. 3. 4.

In the sentence ‘for instance, the appearance of the letters a-n-t-i in a word does not mean that
they always form a prefix.’ “For instance” means …………………….. .

always whenever for example instead

6-

1. 2. 3. 4.

The members will ……………….. the program committee.

form formation formable formably

7-

1. 2. 3. 4.

We could imagine that someone ………………… did not accept something might throw it back.

who which where this

8-

1. 2. 3. 4.

Barbara looked the word ................ in a dictionary. 

up for with from

9-

1. 2. 3. 4.

Thanks to the bad weather, they could not play football yesterday. In this sentence ‘thanks to’
means ……………………  .

although because of instead of for instance

10-

1. 2. 3. 4.

The boy read the story but did not comprehend its meaning. 'Comprehend' means ............. . 

forget annoy summarize understand

11-

1. 2. 3. 4.

The element ‘re-‘ in the word “rewrite” means ………………….. .

beyond not between again

12-

1. 2. 3. 4.
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They …………………. themselves to the change quickly.

adaptability adaptive adaptively adapted

13-

1. 2. 3. 4.

In the sentence ‘In the number of speakers who learn it as a first or second language, English is
the world’s most important language today’, the word “who” refers to ………………… .

number language speakers English

14-

1. 2. 3. 4.

In the sentence ‘this may make you wonder why people complain so much about novel uses of
language’, the word “novel” means ………………… .

familiar new important interesting

15-

1. 2. 3. 4.

In the sentence ‘English is the most frequently taught second language’, the word “second” is a
(an) ………………….. .

adjective adverb noun verb

16-

1. 2. 3. 4.

You should provide a topic for discussion. In this sentence “topic” means …………… .

stock bond point subject

17-

1. 2. 3. 4.

David is collecting ……......…… for the new book. 

abstract manage material mentally

18-

1. 2. 3. 4.

The element “sub-“ in the word ‘subway’ means ………………… .

after under again not

19-

1. 2. 3. 4.

Your next ……………. is to find the missing words in these sentences. 

assignment assign assignable assignably

20-

1. 2. 3. 4.

In the sentence “we read because we have to read”, the word ‘have to’ means ………………… .

save hold understand must

21-

1. 2. 3. 4.

In the sentence “Although we might suspect it to be a lie, we are not quite sure.” The underline
part is a(an) …………………… .

adjective clause adverb clause noun clause adjective 

22-

1. 2. 3. 4.

‘A short well-known saying that states a general truth or gives advice’ is called …………………
.

idiom remark proverb deduction

23-

1. 2. 3. 4.

Bob’s …………. is that Helen is 30 years old. He is not sure about that.

guess idiom proverb content

24-

1. 2. 3. 4.
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Tom is the ………………… husband for Alice.

ideal idealize idealizes ideally

25-

1. 2. 3. 4.

In reading, you can get the meaning of a message by inference, i.e. the message is not given to
you outright. In this sentence ‘i.e.’ means ……………………. .

on the other hand for example instead of that is to say

26-

1. 2. 3. 4.

Mary uses a dictionary. A dictionary ……………. by Mary.

used has been used is used is using

27-

1. 2. 3. 4.

He always associates Tom with fast cars. In this sentence, “associate” means …………….. .

emphasize enclose separate connect

28-

1. 2. 3. 4.

The ………….. of some English words are still unknown. It means the source of some English
words are still unknown.

origin accent connotation detail

29-

1. 2. 3. 4.

The element ‘un-‘ in the word unusual means …………………. .

before not in again

30-

1. 2. 3. 4.

Your work is adequate but I’m sure you could do better. The word ‘adequate’ means
…………….. .

compulsory modern sufficient fashionable

31-

1. 2. 3. 4.

This report is up-to-date. 'Up-to-date' means …………………. .

old evasive similar modern

32-

1. 2. 3. 4.

It is important to know how to utilize the library efficiently. In this sentence, ‘utilize’ means 
………………… .

use hide forget show

33-

1. 2. 3. 4.

If you ……………………. a good command of the alphabet, you will find the word fairly
quickly. 

had have has has had

34-

1. 2. 3. 4.

Some schools place great …………….. on the language study. It means they give special
importance to the language study. 

criticism confusion emphasis uncertainty

35-

1. 2. 3. 4.

Metals …………… when they are heated.

expansion expansive expansively expand

36-

1. 2. 3. 4.
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In the following sentence, how many gerunds are there?
“Learning, retaining and remembering form a continuum in the process of studying.”

Three Two Five Four

37-

1. 2. 3. 4.

In the sentence “understanding makes remembering much easier.”, understanding is  a(an)
…………………… .

object adverb subject suffix

38-

1. 2. 3. 4.

In the sentence “where she is going is a secret.” The underline part is a(an) ………………. .

adjective clause noun clause adverb clause preposition

39-

1. 2. 3. 4.

In the sentence “you should understand what examinations are for and how important it is to
pass them”, the word ‘them’ is a(an) …………………….. .

preposition pronoun prefix adverb

40-

1. 2. 3. 4.
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